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BIOLOGICAL SCIENCES
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( Marks : 52 )

1. Frsfrfirs enmofir ot B Mo ( o srtaffy 7 ): 2x5=10
(i) fbrR (Geitonogamy) 1 31 2 TATEAS WG | 1+1
et

TR MW T S F @man ¢ 2
(i) mmmm@@? 2
et
ffSw ea@ RNA of fs fs 2 | 2
(i) HIV @32 AIDS-93 *[@1 JIW et | 1+1
o e
B (Vaccination) #1s 6 @ 2 - ‘ 2
(iv) aweSEFwe T 2 e 7136 a1 e 2 . 1+1
% et '
et s wefifem (GMO) fF 2 arifae (o8wa st wa | 1+1
W) M-ﬁywmwmﬁenaaammqu 1+1
. : y
R S onp— ' 2
2. Frfrfes ermafm Toz vie ( R ol oty ) - 3x9=27
(i) IUD f& ? ama oy e § 3 @ @R *rrfbfees owfen sy il ey Famm
LR 1+2
Wt
W @ oo (M (O wrwioft S W | ' 3
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(i) acwonzt & 2 93l Sweae we)
L)
‘«-DNA =2Ed" 2=7s 5 @M 2 PCR %53 a1 comn qfS 5% Tapa 2w 1+ 2
(iii) EEhe Safufic-O SwEN aetaf af 3

el

fom cuf™ 6 » TR ZYfeTTR Siesrd SrEd T 2+1

{iv) PR PRrE-a3 2  Soptsl @3 @reIey Seefe Srerd FE 2+1

Tl
mﬂﬁam@ﬂuwwﬁsM?maﬁmmbodﬂﬁn 2+1
) ﬁa@@atmmqﬁzsmmﬁw‘mn-’ _ 3
et

| iy T (@R R RRGTR e I 2 SRER earTie Seetfe e

ez A AeowS I I 1+2
(vi) ﬁaﬁrﬁ@mmﬁmc«mqﬁv@ﬁamaﬁmm@}w:
TR, TRTES, W | 1+1+1
st

AT AT FETA orwTS ST FTA 9T O¥ (AT FRA T N1 2 + 1

(vii) mﬁramﬁmﬁmmumuﬁaﬁmv 1+2
WA
o¥f aree unfafeu v B sl | 3
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(viii) T TRE U ARFIRAT IR (4 @A o AR IRTE Swd I 3

oot

= Beomme, @t AR R N @ FrereTs Seomr IRZS AFf T MRBRI

T SrEy I

1+1+1

(ix) coba, Feifimr gae argerfie Satafbar 2es fo @ 2 1+1+1
sl

@ (O 3 6 2 a7 oo ST I | 1+2

Frafbre emaf S e ( Rrow eraft oondly ) - 5x3 =15

() IR @ SN e @ @I R el oot | TSl B 2 SHrRAT AG |

3+1+1

| St
quamﬁfwmﬁ«qmr | : 243
(i) o Sfva Sferemel Sw I | SAben (patégia)-m TS @ W@E
u%mmmq? 4+1

| ot

ﬂmmﬂ@ﬁ@mﬂmmt G T TRAWR R TACRSFR Aifre afr we |

. 2+3
(iid) DNAamﬁtmmmnWMWﬁsmmn? 3+2
el

ﬁ(mﬁ?wmwmmmﬁM?m«mm 2+2+1
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( ENGLISH VERSION )

1. Answer the following questions in short ( Alternatives are to be noted ):

(i)

(ii)

(i)

(iv)

™

2x5=10
What is Geitonogamy ? Give example. 1+1
OR
What do you mean by reproductive health ?
State how sex is determined in birds.
OR
What are the different types of RNA ? 2
Write down the full forms of HIV and AIDS. ' 1#1]
OR
What do you mean by vaccination ? 2

What is Endonuclease ? What do you mean by Restriction site ? 1 + 1
OR
What is Genetically Modified Organism ? Define cloning vector. 1+ 1

Define ex-situ conservation. Give one example. 1+1
OR
State the importances of biodiversity. 2

2. Answer the following questions ( Alternatives are to be noted): 3x9=27

(M

(i)

What is IUD ? By which surgical methods permanent contraception is

done in male and female human body ? 1+2
OR

Mention the secondary sex characteristics of human female. 3

What is Biopiracy ? Give one example. 2+1
OR

What do you mean by ‘c-DNA library’ ? Mention any two advnﬁtagea

of PCR technique. 1+2
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(i) Describe the essential steps in Genetic Engineering. 3
OR \

What do you mean by Gene Therapy ? Mention the significance of

Human Insulin. 2+1

(ivy Mention two symptoms and chromosomal abnormality of Klinefelter's

syndrome. 2+1
OR
What do you mean by chromosomal theory of inheritance ? What is
Barr body ? ) . : 2:+1
(v) Write down the biomolecular evidences of evolution. 3
OR

Which type of evolution is indicated by homologous organs ? Briefly
describe Miller's experiment in support of biochemical origin of life.

. 1+2

(vij Write down the scientific name of causal organism of each of the

following diseases :

Ascariasis, Typhoid, Ringworm. ' 1+1+1

OR
Mentign the mode of transmission and name of causative agent of
Filariasis. - ‘ ! 2+ 1
(viij What is carcinogen ? How can you prevent the occurrence of cancer ?
~ 12

OR
Draw and describe the structure of a typical antibody. " B

(viii) Mention the use of any three bacteria in household food processing.
3
°  OR
Mention the names of one bacteria each responsible for energy
production, control of pathogen and industrial production,

1+1+1




w(l

(ix)

21-(04)®-

What do you mean by genetic, species and ecological biodiversity ?
1#1+1
OR

What is Red Data Book ? Mention its significance. 1+2

3 Answer the following questions ( Alternatives are to be noted): 5x3=15

®

(i)

(1)

Write any three differences between anemophilous and

entomophilous flower. What is polyembryony ? Give example.

3+l+l
OR
Describe in brief the male reproductive system of human with
labelled diagram. 2+3
Describe xerophytic adaptations in plants. Presence of patagia
represents which type of adaptation ? 4+1
OR .
Mention the sources of air pollution and describe briefly its ill effects
on human health. 2+3
Describe the structure of DNA in brief. What do you mean by Genetic
Code ? 3+2
OR
What is Linkage ? What do you mean by Sex Linked Inheritance ?

Give example. 2+2+1]
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( HINDI VERSION )

L. WM*Mmaﬁumm«mm@: 2x5=10
(i) heRMH (Geitonogamy) F1 & ? I 2| 1+1
sroar

14 (reproductive) TR &1 F41 Arad € ? 2
i) et g fom Fraior R fr s @ 2 2
Srerar

RNA & fafve wer @1 € 2 2

(iii) HIV @1 AIDS % QU1 &9 fefau 1+1
sper

FIFTETIT (vaccination) § 3T FT FHe & 2 2

1+1

(v) TISfETCS R ;mmmawmz ?

Agqar
sy o e o 7 & 2 A AT R 141
W) m-mﬁﬂmﬁtftwil@mil
st
¥ fatfee & g W I
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(i)

(iii)

2. St el & 3¢ A (AR st o o dfem) 3x9=27
mnant?gﬁ@tﬂwmvﬁrﬂmwndhwnwammhwﬁmn
fara s R 2 1+2

e ,

s @t § Rt fom et @ IeerE B 3
s w2 U I 2+1
o |
-c-DNAﬁﬁiﬂ'#mmmﬂt?PCRam*mﬁﬁaﬁm
TeE | | 142
St s % v 9T qu w ' 3

St
s e 3 T e & 2 A T & T 7 e 241

(v

v

fierret fag & & o au FIEi ®t fEfTaar w1 IeerE FE1 2 + 1
St

me@nhﬁﬁmmmi?mﬁ(&nbody)m

k2 2+1

fawr (Evolution) ¥ - 31w (biomolecular) wmeat wh frfag | 3

- foew wwm st g gfem o ? e & dy-reratre W ¥
wda A fron & W W s W wet

1+2
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(vi) T dfeat | s @ drews e w5 s A e

TEAtER, TEwE, foand I+1#1
Hrar

mmmmwmmmmmmﬁl 2+1

(vii) mﬁﬁzw%?hmﬁmmﬁﬂ%ﬁ? 1+2
Fgar
mm@aﬁmmmmmﬁ. , 3

(vii) T SR SR § s et S Syt &1 T F1 SeerE F 3
| e

T IAEA, m%mﬁmmmmﬁmémﬁ.
vhamlmrwqmwmfﬁ&am

1+1+1
(ix) SRS, Wit qo aRfRafaet e fafaar @ = aed & ) 1+1+1
: ’ o
| 3 TREE W E 2 T T w oo T
3. FsfefEa vt % sw e (Iefeas s w e dfv): Sx3= 1S
@ mmmwémﬁﬁamm.wm
t 2 TR | 3+1+1
' Ferar
A Q8 & WA oF I AiEd faF & | gt 5§ i
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(id) Mﬁu@éwmaﬁﬁn&aﬁmaﬁwﬁmﬁmmm

o i 2 av1

- i
mw%@ﬁmmﬁmmmmmmﬁmmaﬁ
e A e | 2+3
(iii) DNA & T 31 ot wi § 1 s He ¥ T A ¥ 2 3+2

Hgar

e = & > Form weeT ST A SN N GEAA § 2 W 2+ 2+ 1

[xs-Bros ] 11 of 11

_ o




